120253 018 03¢

<2l
=

o

Mo

Xt
3

"= ME2 Q=7|7| YL (22 8/MAHESX])

1

70
K0

._|
a4

w)

—_

=

oir

b2 o

.
o

2
S

HES At

bl

(1) AH 220 HiE(Elastic band)S Z =Lt

(2) Pressure bar0f| BHEE 7

fo-
oH

Ct (KHAHE = XI)

3

—

e
(e}

P

Cf.
Of AL 7&7IZH0] At MEF2 AHESHA|

F

B Al AL

]

b~
—

i

0|-83t0]

=

=
HME2 €=[80|22 IHAHESHA] &1 7|

of 2F0[ AUAALE
3) AHE =5 0|29 AHES BXIT

H
[
IT
=

1)

1) 2 HE2 9z7|7|0|12=2

(3) Closure bar

2) H|

(

B AMSAl FoAE

i

59

Al
(=]

4
10
Kir
ol

o
Hio

Kr

siso] HE BB KX, X|

o =
= 2

Hio

6) = N

=O|27|7|2HH M E &, 080-080-4183)

b

—

-
o

HE 22| K(

prl
—

m PX8ED



